AC Cirwuils worksheet

© Fing Mesh: "

EET-

@ Find Nodal :

@ Find Thevewm + Norfoh ng\;aleu‘ts) £ind 2, Lrwmak
power Tonsfer and P for that case.

14 3Kk

IpLo ool

D A 2oV system. has 3 loads in parallel: Aresstive spow, A
(eSiSTIR 12020, 3hd 3 ZHP motor with 7=.%8 and a, 7
(agging Power {actor. Draw the power triangle and determine
a pardlel load for a el Fp= 1.



AC CICCNTS  (Mswes )

(G 5K 5"<

@ NNV— WAL Al
} Bl \ to
e @ Q 7k Q 4 J ) 2Ld
L a >

# 0 1lg = L.(‘K'JZ“) - Lz< -;zz) |

$2: @ 7L (-g2K) L (4KApEzh) - G(HK)

$3: - 210 = - ,(4K) +L, (4K -5K)
- Combine ,simph'{?, 4 Solvbe—

A’ —_ B, -
. S AMW—e—— €
@ <—r ‘ 20 wt\_t ~
Lo 1 (v %T
/;e.fNode

10 VU 7 ) - Vo 7)
o 00 () (g 70)" ()

¢S Vg ( %) A

~ Combite, Sinplitt +solve —



Ac Cifuits  (auwes, z)

3i¢
@ \Kl—%-—'ﬁ‘“—* &4, ° R (ZK/}—; k) + 73K
olo %ﬂ 2K '
IR g.“‘ = ZN = 2.4k L717°

hSJ

~ ale

Cty = QLo - 2x k= T L2’

Foc jl\), e{‘\\\ev 'QMA Wsw circuﬁ’ OUd‘pu't curmd’, X do 3 Sours
conversion. Lom The thevenin Lform .

T Ew/zm s 8.9 L2002 1P 7 397w [-s3l°

2, 7 2.94x /-397° (400.5 -4 2.2k)

\

o Ent o W
P e 7 Gdes T
!

@ Resistive = d0pow+  Inductive > 24P F4wlne S ° |76 Kw
Fo: 056 , © < s’ 7 45L& FKW[F = 2,51k
This s c¢wua|ﬂ‘r 7o : [.36 kwresistive + L79K Induchve,

3K 2k (3360 oTAL)

Resull 1 4.K.&5s° — — Apparet powel in Vi
© Get back © Fp=l, we Need R = L kvar capoerTive.

Vi Th2 z
Q- %, ke o Gew o
< K 1.7 kvae g s

= =T - ‘—J"’_’ = N B p
= Zmic ¢ ok IMCOHT- 3,045 B0ur



